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. BLOCKOUT
. =0 :
.(C)Y1981 MSK
INPUT "BLOCK-SIZE"U, " PADDLE-SIZE" u, "% oF EXTRA BALLS"L
Z=B;CLEAR ;NT=8;BOX ©,8,156,88,1;B0X 8,-43,1608,2,1;FC=118;BC= @
BOX 8,26,158, 15,2
X=RND (41)-21;Y=RND (75)-38;A=5;B=RND (3)-5;C=-0
K=U ‘
CX=60; PRINT #2 b o
BOX C,-43,K,2,3;B0X ¥, %,2,2,3
BOX C,-43,K,2,3;C=KN(1);BOX C, 43 K, 2, 3 BOX Y,X,2,2,3; x—x+a Y—Y+B IF PXCY,X
Y.%,2,2,3;6G0TO S0
IF X<-44IF PX(Y,-44)GOTO 48086
NT=1;:MU="E":HT=0
M=x;MN=Y;X=X-A:;Y=Y-B
IF M>»43A=-A;IF K»SBOX C, -43,K,2,3;K=Ke2;BOX C,-43, K,2,3
IF ABS(N)>»7S5B=-B
IFf M{-48A=-A;B=(N-C);.bB
IF M<34IF M>28IF ABS(NI<76Q=15;GOSUB 3888
IF MCZSIF M>23IF NK7SIF N>-7B0=10;GOSUB 3208
IF M{Z4IF M>18IF N<75IF N>-76Q=5;GOSUB 3008
K=X+A;Y=Y4+B
BOX Y,%,2.2,3:;G0T0 88

3PBE A=-A; Z=7+Q; BOX (N+75)cUbU-(75-(Uc2)), 16+Q,U,5, 1; cx——lz  PRINT #5,Z, ;RETURN
4908 IF L L=L-1;BOX C,-43,K,2,3;60T0 48
4818 STOP
3 o
B
2 .PINBALL I - 3, . o
3 .(C)1988 MSK o : o
. 9 INPUT "# EXTRA BALLS"L,"BUMPER SIZE"U,"# OF BUMPERS'N ' :
1@ Z=m;CLEAR ;NT=8;BOX 8,8,156,83,1;B0X @,-43,168,2,1;FC=118;BC=0
268 FOR A=1TO M:BOX RND (148)-78,RND (58)-28,U,5,2;NEXT A '
48 X=RND (41)-21;Y=RND (75)-38;A=5;B=RND (9)-5;D=0;C=0
45 K=U
5@ Cx=60;PRINT #2,L,
78 BOX Y,%,2,2.3
75 IF C C=C-1;BOX -35, 43 78,2, 1+(C>3)560T0 77
76 IF TR(1)C=7
77 IF D D=D-1;BO¥X 35,-43,78,2,14(0>3):G0T0 sn
78 IF TR(2)D=7 ‘
- 88 BOX Y,X,2,2,3; X=xX+A:Y=Y+B:; If PX(Y,X)BOX ¥Y,X,2,2,3;60T0 75
208 IF X<-44IF PX(Y,-44)G0T0 4888
218 MT=1;MU="E";NT=8
228 M=%:M=Y;X=X-A:Y=Y-B
238 IF M>43A=-
248 IF ABS(MN)>7EB=-
258 IF M<-48A=-A;B= RND (93-5
268 IF MC34IF M>ZBIF ABS(MN)<7E0=15;COSUB 3088
27@ IF M(ZSIF M>23IF NC7S5IF N>-760-1@;GOSUB 3900
288 IF M<24IF M>18IF N<C7SIF N>-760=5:GOSUB 3888°
28@ IF MC1SIF M>-350=1;GOSUB 3008
1108 %= X+A; Y=Y+B
1118 BOX ¥,%,2,2,3:60T0 75 , ,
3@@@~ﬁ=(RND;(12)=1)-ﬂ;Z=Z+Q;CX=—25;NT=1;FOR R=1TO Q;MU="=";NEXT R;NT=8; PRIHT #5,
Z, : RETURN o

48688

481a
X

NT=3Z;MU="#";NT=B;IF L L=L-1;G0OTO 4@
MT=1;STOP . '
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